
May 4, 2024 11:17:56 AM CDT                              - 1 -                              



May 4, 2024 11:17:56 AM CDT                              - 2 -                              



May 4, 2024 11:17:56 AM CDT                              - 3 -                              



May 4, 2024 11:17:56 AM CDT                              - 4 -                              



May 4, 2024 11:17:56 AM CDT                              - 5 -                              

Click Here to View Item Online

McElroy Manufacturing Parts List
Part Number:  1269402  DynaMc Automatic 220-240V Power Box Assembly

Part Number 1269402 Component List

Item Component Description Quantity Unit Price

AL1 MLN00470 6-28V Continuous Alarm 1.0 EA 60.86

DR1 MDB00122 2HP 240V 1PH AC Vector Drive 1.0 EA 1,444.00

F1 MLQ00081 15 Amp Fuse 1.0 EA 35.52

F2 MLQ00081 15 Amp Fuse 1.0 EA 35.52

K1 MKB00133 Same as & Replaced by MKB00110 1.0 EA 0.00

K2 MKB00133 Same as & Replaced by MKB00110 1.0 EA 0.00

PS1 MQE00102 +24, +5, +12, -12 DC Supply 1.0 EA 651.00

1 1265501 Dynamc Hpu Electrical Box Mod 1.0 EA 0.00

2 1267402 Dynamc Auto Pwr BX 28P Pig Asy 1.0 EA 0.00

3 1267502 DM 240V 3/12,6/16 Fem Recp Pig 1.0 EA 0.00

4 1267602 DM 240V 12/3 Male Recp Pig Asy 1.0 EA 0.00

5 1267702 Dynamc 16/6 Recp Pigtail Assy 1.0 EA 0.00

6 1267801 Dynamc 16/14 Recp Pigtail Assy 1.0 EA 0.00

7 MQF00352 16AWG 24-POS 2-ROW Receptacle 1.0 EA 0.00

8 MQF00351 16AWG Female Crimp Contact 11.0 EA 0.00

9 MQF00355 5-POS .156" Connector Housing 1.0 EA 0.00

10 MQF00356 18-22AWG Fem Crimp Contact 3.0 EA 0.00

11 MLM00004 18-22 X #6 Ring Term, Non-insu 2.0 EA 0.96

12 MLR00037 Sealed Panel Mount Fuse Holder 2.0 EA 147.00

13 MLM00061 Steel Din Rail 0.7 FT 18.49

14 MLM00056 End Clamp 2.0 EA 5.71

15 MLM00204 End Cover 1.0 EA 3.79

16 MLM00120 14-16 X #6 Fork Terminal 2.0 EA 1.15

17 MLM00092 18-22 X #6 Fork Terminal 2.0 EA 3.14

18 MLM00081 14-16 X #8 Fork Terminal 4.0 EA 0.00

19 MAH00232 1/4-20NC X 1-1/4LG Bhpms PL 4.0 EA 0.00

20 MLM00203 12-26 Spring Terminal 30.0 EA 4.58

21 MLU00037 ZB5 Marker 1-10 1.0 EA 5.86

22 MLU00038 ZB5 Marker 11-20 1.0 EA 5.89

23 MLU00041 ZB5 Marker 21-30 1.0 EA 5.44

24 MLM00209 ST2.5, 2 Pos Insertion Bridge 3.0 EA 3.44

25 MLM00206 ST2.5, 3 Pos Insertion Bridge 3.0 EA 4.98

26 MLM00211 ST2.5, 5 Pos Insertion Bridge 1.0 EA 5.29

27 MAN00027 #4-40NCX5/8LG Fhscs SS 8.0 EA 0.29

28 MBC00001 #4-40NC Mach Scr Nyl Lck Nut 8.0 EA 0.34

29 MAN00029 #6-32NCX5/8LG Fhscs SS 12.0 EA 0.14

30 MAN00061 #6-32NCX3/8 LG Bhscs SS 8.0 EA 0.66

31 MAN00028 #6-32NCX5/8LG Bhscs SS 12.0 EA 0.61

32 MBC00002 #6-32NC Mach Scr Nyl Lck Nut 24.0 EA 0.75

33 MLN00206 #6 X 3/8OD Seal Washer SS 12.0 EA 0.00

34 MBF00002 #6 TY 'a' Wide FL Wshr Stl PL 4.0 EA 0.10

35 MQI00077 #6-32X1/2 F/f 1/4HEX Standoff 4.0 EA 3.81

36 MAH00003 #10-24NCX5/8LG Phpms 2.0 EA 0.29

37 MLN00194 #10 X 1/2 OD Seal Washer 2.0 EA 0.00

38 MBF00004 #10 TY 'a' Wide FL Wshr Stl PL 2.0 EA 0.10

39 MBC00004 #10-24NC Mach Scr Nyl Lck Nut 2.0 EA 0.31

40 MLM00094 14-16 X 1/4 Ring Terminal 1.0 EA 0.00

41 MQF00177 Size 20 Recep Rear Mnt Gasket 3.0 EA 14.22

42 MQF00179 Size 24 Recep Rear Mnt Gasket 2.0 EA 14.20

43 1271401 DM Auto 110-120 Pwr BX Srl Lbl 1.0 EA 0.00

44 MKB00126 Solid State Relay Cover 2.0 EA 14.35

45 MLN00418 5.5" X .14" Cable Tie 25.0 EA 0.31

46 MLL00095 #16 UL1007/UL1569 Wire, Blue 10.0 FT 0.00

47 MLL00096 #16 UL1007/UL1569 Wire, Brown 9.0 FT 0.89

48 MLL00046 #16 Mtw/tew Wire, Green 2.0 FT 0.00

https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269402


May 4, 2024 11:17:56 AM CDT                              - 6 -                              

Click Here to View Item Online

McElroy Manufacturing Parts List
Part Number:  1269402  DynaMc Automatic 220-240V Power Box Assembly

49 MLL00002 #14 Mtw/tew Elec Wire, Black 3.0 FT 0.00

50 MLL00053 #14 Mtw/tew Wire, 2.0 FT 0.00

51 MLL00035 #18 Mtw/tew Wire, Black 2.0 FT 0.00

52 MLL00084 #18 Mtw/tew Wire, White 2.0 FT 0.15

53 MLL00089 #18 Mtw/tew Wire,green/yel Stp 2.0 FT 0.14

54 MLM00175 18-22 X 1/4 Ring Terminal 2.0 EA 1.84

55 MLM00216 #20 X 8MM Insulated Ferrule 16.0 EA 0.71

Please visit https://fusion.mcelroy.com/parts to purchase parts or for more information.

https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269402
https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269402

